o] RE DR

b B XAk 2 100 25 B 40 A4 A
e BERLZFR B#AER 7 A 27 8 %18 09:00-10:20
#8E&HEH  (20-108)

—“HRB B2

1. P o AMERHA &R T

Q 1 2 3 4 5 6 7 8 9 10
MU |15 14 13 12 11 10 |9 8 7 6
MU, |9 8 7 6 5 4 3 2 1 |0
B X MEH Px=4 o y T B 1B Py=2 K ey A A =0  ARAE M=50 > %P
HELwHET €ELEX? (D) £@Y? () eH5%0#E? () #Hg+
W TzHRABESEY?_ 4 - '

2 BEBLEATDHREMEEES TS > ATHOFTRIES
1

qA:2O—§P
1

g =15——0P
20

&ﬁz&$aﬂ%6=w+wq’aiﬁmémmﬁszﬁﬁﬁz?@)5?@)%,
A (1)

3. B4 vAE 10 BABRTANEEE  REKIEAH P=10-q° FIFHAH 10 @R
bk RS RBA q= -SPSFR TSRS B) @ANEEXIEFRE

[C)
4 Bl oL EXRHLO I =-P+5  $RBL2ERBMNSE (10) BRFTUHR
BAA S % (A1) -

5.RRAMETIHPEARAMEBZALAZHS TC=200+9+0.1¢> » K MC &#?
(12) AVC &#?_ (13) -~ ZEq= ?7_(4 ACH&N?_(15) RKEHzumiast
waxp? (16) - 2T FPH 100 2R kdE > BTHEREH
0, =1,000-250P » KA F REH_(AD - KEdHzapmymsz g (8) -

— -~ AEA

1.ﬁﬂm#%ﬁ**K%%Tﬂgﬁﬁﬁkﬁ%%%ﬁi

(1) BAE B H A T SR AT HOBE - [ 5B
(DE$h%%%%%iﬁ#m*@$%ﬂ&*$$%%va°(5%)
(3) THUSAATHERTHERBTERBOVE © (4F)

W w w3 BlEEE




# oz REX o R)

e

AL A 100 46 B A A
hi BEEREFA A&7 A2 A% 1 # 09:00-10:20

#8 8BEW (20-108)

=\ EEREE - EE 107 K50y

1. RS FETEFE LBEK » DIAFEEE CPI - %E@Bﬁﬁﬁ%ZFﬁﬂ’ﬂﬁﬁ
% - (10453) |

2. SHfRRREE AR TR - (10 473)

3. R ERKERIERIIZEURE - (10 43)

4. %@?géﬁ%?’f;ﬂ'ﬁlﬂﬁﬁﬁﬁﬁﬁ%&“ » A e IRV B BOBCREL S R BGR IR AL -
a

5. FEEEENE G RT - WBOGRT - UREERE » =& 2 /MMEEE - (10

2D

w @ gl [B2EH2E




